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oo AT wE owedcol IR Sferea 1%x5=5

Choose the correct answer from the
following :
(@) TR SHRSLE @R S 2

Which of the following is most acidic?

(i) T
Bhenol

(i) | o-TRE R
o-nitrophenol

(i) 2,4-C2ArRG e
' 2,4-dinitrophenol
(iv) 2,4,6-52ARG Fe

2,4,6-trinitrophenol



(b)

(c)

(d)

fRTH-2-379 S TARFI FeTo G (2R (IO
(=
But-2-ene on ozonolysis produces
(i) - FCAGRET
formaldehyde
(i) «fRoataRe
acetaldehyde
(it)) - & A
propanal
(iv) SR QOIS =
None of the abovée

©ER (FCOT (9T SBES(F FITPR 2

Which of the followinhg compounds is
most basic?

() CH,; —NH, (i) (CH;),NH
(i) CH,CH,“=NH, (iv) CgHs—NH,
n-o1’%i%e. @ Ees WaF 2y KOH I O1tS
Tallre SR S (I (6! (20

n-Propyl bromide when heated with
alcoholic KOH, gives

R T
propyne
(ii) & AT
propanal
(i) &’
propane
(iv) 4’

propene



(e) @R wEw’aes ffFuiie wibe (2 4

2. (Q:r .

(b)

EGEROET MR

The electrophile involved in the
sulphonation of benzene is

() H,S0, (i) HSO}
(iii) SO, . (iv) HSO,
UNIT—I

ooy [ oo 791 e WMo wbe (2 4
NSO o - 1+1%2

Complete the following reaction and
write the rule involved in the reaction :
Cl

CH3;—CH—CH,—CH3; + KOH alc. ——é9
2/f33éq =91 (R Freanyon) - 2x2=4
Convert the following (any two) :

(i) 2R H[I RTE-2-%1%
Propyne to but-2-yne
(ii) 2 F A [ 1-3 7 ¢ T
2-bromopropane to
1-bromopropane -

NI I RIERIED

Ethene to ethyne

(c) o] RIGIOR X 9 Y DT 41 2

Identify X and Y in the following
reaction :

| H
CH, = CH, +H,0 + Hg(OAc), — X NaBH, .y




() R RfEaR ey F (f caren fsfor) © 1x3=3

Complete the following reactions (any
three) :

(i) CHs—CH=CH, + Hy0 + [O]

N | alk. KMnO, _
Br Br -

. |
i) CH,—CH—CH, + KOH alc. —=->?
10

(iii) CHz—C=C—CHj >
2) ZH/HQO

iv) CH,—CH=CH4 +HBr _feroxide .,

UNIT—II
3. (@) w9 RfEER = $9 (7 @ W) : 1x2=2

Complete 'the following reactions (any

two)
COONa

n +NaoH —220 55

A

- OH

() @/ + Zn 8 >? U
0 |

(iii) @ + CHg U oy B AICL




(b) Fros-Fgtes wdfdces s @b TS
T3 By (il sgamen w4 14+2=3

State Friedel-Crafts alkylation reaction
with the help of a suitable example and
explain its mechanism.

UNIT—III

. (a) Sy2 Rfewa 9o Trzge fr wreza fafid
ST 41 | 1+243

Give one example of Sy2 reaction and
explain the mechanism.

(b) \ﬂ'ﬂﬁﬂ GBI 16 R | IRIBEAC (€ UG IEG!

(ZETRGOLT N AT A A0 2

Aryl halides are chemically less reactive

than alkyl halides. Explain. ~
3=/ Or

o AR 7/ X o Y {ore 41

Identify X and Y in the following"

reaction :

NaNO; % CuBr
HCI, 5 °C HBr

CeHs—NH, >Y



() oo frfers «ifdads F41 ([ @A) : 3x2=6
Convert the following (any two) :
() TRTs-1-27 o[ fRTG-2-3
But-1-ene to but-2-ene
(ii) TR 2’ A &L AR
Methyl bromide to propanone

(i) F'EA A_ @ S GfRe

Chlorobenzene to benzoic acid

UNIT--IV

5. (a) ERW RELERIART wfes REe e
| (AT 4GS I ? 2

- How can phenol be prepared with the
help of cumene hydroperoxide method?

P R e e S —
DRI o '2e T (FCAT W (@R AR,
EUSISSIN 3

Explain how primary, secondary and
tertiary alcohols can be distinguished
with the help of Lucas test.



(c) o R ool a1 (R Golean o) : 1x2=2

Complete the following reactions (any

two)

() CH,—OH
| KHSO,
(IIH—OH - —>7?
CH,—OH

| o
(ll} CHS_(lz_CH;% Cu/573 K> 5

CH;
OH
; O

I
(iti) + CeHEON Y1 —DNa0H

7 .

(d) oo RETPEes Trre Tresd @ a3 (R
CIICAT Yo1), : 2x2=4
Explain the following reactions with the
help of suitable examples (any two) :
(i) Jor T - e S AT

+ Pinacol-pinacolone rearrangement
(i) 2Rz R
Houben-Hoesch reaction
(iii) | (SFHS-GrRE [

Reimer-Tiemann reaction



UNIT—V -

6. (f CIREH (ARG REFR FHZYTS 2 of2A442w
7S 9 | 2

Prepare propylaminé with the help of
Gabriel phthalimide synthesis.

() R @i aw el (@fR W 2 1

Why is ethylamine more "basic than
ammonia?

f oo RfEwEER T w9 (R @A) 1x2=2

Complete the following reactions (any

two) : ]
N=NCI
@ - _RH,0 Ry
NH,
- + CHCI3 + KOH alc. ——>?
N=NCl op

H=9—
(iii) @ @ pH=9-10 0
0 °C-10 °C



( Old Course )
Full Marks : 48
Pass Marks : 19

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. oo (MAART W Tech Ak e - 1x5=5
Choose the correct answer from. the
following
(a) Sy2 i 9ore R w91 g#fee. (27T

GOR CFGS o< (FICHI HOS ?

Alkyl halide undergoing“Sy2 reaction
involves

() TR

formation of carbocation
(i) ReRreaql FaResmcIny
inversion. ‘of configuration
(iti) @RI ¥=e / racemic mixture
(iv) FARFCIOR I ATT
retention of configuration
(b) 'C@—EHQ 3 997 RMgX 3 Rferan 1ftce wog

O
CPICHT TLF 2 7 .
Th ti CH,—CH i
e reaction of \20/ 2 with RMgX
leads to the formation of
() RCHOHR (i) RCHOHCH,

(i) R,CHCH,OH (i) RCH,CH,OH



(c)

oM H,SO, S 7% R qore’2e ol fiwet
e A8 LEI6! 24

During dehydration of alcohol to alkanes
by heating with conc. HSO4, the initial
step 1s |

(i) 2B TAMHA
formation of ester

(i) «oTR —OH e 2 bl FRCAIE
protonation of alcohol molecule

(i) FHEOREE e

(d)

formation of.carbocation

(iv) SR S BRI

elemination of water

wed (eI S w f{ifere S| i 2

Iodoform test is not given by

(i) . 2-CoTBI
2-pentanone

(i) 3-CTO
3-pentanone

(iii) B
ethanol

(iv) B

ethanal



(e) TFI (FINCOI Cﬁf‘i'\‘ﬂ'ﬂ’@ﬂ"

’.l‘he strongest base among the following
1S

(i) Q . (ii) [-1;]

}u
__NH,
w(J) o K
| |
H

UNIT—I

2. (a) woa RfCs 5o S« oR femfi B
Yot+t1V2=2
Complete the+ following reaction and
write the mechanism :

CH,OH + HI - ?

(b) & AREARES (@E GO TOF  FH (e |
PRI | 2

Why are haloarenes less reactive than
haloalkanes? Give reason.

(c) =T frafRes weies o1 (R e go1) « 1%%%2=3
Convert the following (any two) :
(i) AT A’ 1-5e (o
Propane to propan-1-ol



(i) 2-F'WL TR A 1-T T LN
2-bromopropane to
1-bromopropane

(i) G o fEE @ ARed
RitEvHcOiTi
Benzene diazonium chleride to
iodobenzene

(d) e Rfemcar s T (R o o) « 1x4=4
Complete the following reactions (any

four) :
Na

' ~> P
(i) (CHj3),CHCl e Nether

HB
(ii) (CHg)yGH=CH=CH, ——>?

1) Mg/dry ether
(m) —>7?
2) H,0

P/1
(iv) CH;CH,OH -—ﬁ—%?

' CH3

(v) CH3—<|:—CHQCH3 CaHs0Na/CoHsOH, 5

Cl



UNIT—II

3. (a) M «fewa Tofefow Bameq o@ Hemq Few
~ s famffa By

Write the mechanism of acid catalyzed
dehydration of ethanol to ethene.

(b) TFB FeRe 0 oww'wr @ Rele w4
R TR Tl | 3

What is Lucas reagent? How areralcohols

distinguished with the help of Lucas
reagent?

(c) Y ¢l for (14 Cpicetl gota 1%x2=3
: Write short notes . on (any two) :
() ER-OROH Rl
Reimer-Tiemann reaction
(i) TEEmMER e
Williamson synthesis
i) e R[fEm

Todoform test

(d). oo RIGFC =pef T4 (R @ %ﬁﬁ) . 1x3=3

Complete the following reactions (any
three) :

OH

0 @ dil. HNO3




NaBH4
(i) CHz—C=0 ————>7?

CHj

OCHj,4

HI

1] >
(1) 373 K
(iv) CH,OH

|
CHOH —HI—()i) ?

CH,OH

UNIT—III

4. (a) CGeEbe RS JfFFoR s°[e  JfSwrErg
oo19 f<9aey fera |

Write the effect of substituents on the
acid strength of aliphatic acid.

(b). &=TS TR SRea B (R @ean qbY)
Write the synthesis of the following (any

one) :

() ECEERRT
Benzaldehyde

(i) afos’fF=’w
Acetophenone

(iii) CRferzi3fers e

Salicylic acid



(c) O THRICIRE B (B forat (R ool 1) = 2x2=4

Write short notes on the following (any

two)
()  9oTCH Yl
Aldol condensation
(@) leR’T [
Cannizzaro reaction
(it) CeTg-frgR ReEe

Wolff-Kishner reduction

(d) =1 [igaeam s w1 ([’ @iea fof o) : 1x3=3
Complete the following reactions (any

three)

O
I Pd-BaSOq4, S
(i) CH;—C—Cl + H, >

1) Clp, Red P_,

i) CH,COOH
(i) CHs 2) H,0

O

J DMSO _

1) NaOEt/EtOH
(lv) CHSCOOCQHS @ > !
2) H30




UNIT—IV
5. (a) 07 TaE W GAN NS o GfifieAraq
FRETOE & &4

Predict the order of basicity of the

following amines in gaseous phasé and
aqueous phase :

(CH3)3N, (CH4),NH, CH;NH,, NH,

(b) CIREER femize SesEeR %‘ﬁ%zn— 2% «fis
TS 4] | 2

How would you prepareethylamine by
Gabriel phthalimide synthesis?

(c) THECHR SoPIRel Tees] fors - 2

‘Write Hofmann rule of elimination.

(d) A= B oare s (R e o) - 2x2=4
Identify A and B (any two) :

NaCN, 4 Reduction, p
Ni/Hy

(i) .CH3CH,CI

NaNO,/HCL_,

C<H=NH,/OH"
6115 2/ S B

HNO
Gii) Q conc. 3 54 Fe/HCI 5B

conc. HySO4

(ii) CeHsNH>

* %k Kk



